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Worksheet by Kuta Software LLC

Math 3

PRACTICE Quiz 4.3-4.4 Sum and Difference Identities

Name___________________________________
©c C2^0z2J1t iKOuYtPaZ qSaosfKtrwDaErfeW OL[LdCb.B F tA_l\lm Rriidg]hnt_sV lrreSsFeLrjvveKde.

Simplify.

1)  
tan -4q  - tan -3q

1 + tan -4q tan -3q

2)  cos -3q cos -6q  - sin -3q sin -6q

3)  sin vcos -4v - cos vsin -4v 4)  cos -2vcos 4v + sin -2vsin 4v

Verify each identity.

5)  sin (p

2
 + q ) = cos q 6)  tan (3p

4
 - q ) = 

-1 - tan q

1 - tan q

7)  sin (3p

2
 + q ) = -cos q

8)  cos (90° - q ) = sin q
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Worksheet by Kuta Software LLC

Math 3

PRACTICE Quiz 4.3-4.4 Sum and Difference Identities

Name___________________________________
©C ^2_0F2C1h UKbuJtLaM WSqoMfetqwbanrNeY TLRLPCs.X e BABlZlN jrKivgnhhtWsj LraeisYegrnvDeudC.

Simplify.

1)  
tan -4q  - tan -3q

1 + tan -4q tan -3q

tan -q

2)  cos -3q cos -6q  - sin -3q sin -6q

cos -9q

3)  sin vcos -4v - cos vsin -4v

sin 5v

4)  cos -2vcos 4v + sin -2vsin 4v

cos -6v

Verify each identity.

5)  sin (p

2
 + q ) = cos q

sin (p

2
 + q )

= sin
p

2
cos q  + cos

p

2
sin q

= cos q  + 0sin q
= cos q

6)  tan (3p

4
 - q ) = 

-1 - tan q

1 - tan q

tan (3p

4
 - q )

= 
tan

3p

4
 - tan q

1 + tan
3p

4
tan q

= 
-1 - tan q

1 - tan q

= 
-1 - tan q

1 - tan q

7)  sin (3p

2
 + q ) = -cos q

sin (3p

2
 + q )

= sin
3p

2
cos q  + cos

3p

2
sin q

= -cos q  + 0sin q
= -cos q

8)  cos (90° - q ) = sin q

cos (90° - q )
= cos 90°cos q  + sin 90°sin q
= 0cos q  + sin q
= sin q


